R VCE & PDF https://www.geekcert.com/501-01.html
2024 Latest geekcert 501-01 PDF and VCE dumps Download
2 GeekCert.com

501-0109%As

Riverbed Certified Solutions Associate — Hyper-converged Branch

Pass Riverbed 501-01 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.geekcert.com/501-01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Riverbed
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

501-01 PDF Dumps | 501-01 Exam Questions | 501-01 Braindumps 1/4


https://www.geekcert.com/501-01.html
https://www.geekcert.com/501-01.html
https://www.geekcert.com/501-01.html

VCE & PDF https://lwww.geekcert.com/501-01.html
2024 Latest geekcert 501-01 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

The Riverbed hardware snapshot provider enables what?
A. Multipath 1/O

B. Application-consistent snapshots

C. Crash-consistent snapshots

D. Storage array snapshots

Correct Answer: B

QUESTION 2

-- Exhibit -- Exhibit -
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{includes ESXi)
with Granite Edge License

Refer to the exhibit. Customer is attempting to implement the following Granite Design, but for some reason the
Windows Server in the Branch never manages to discover a LUN. Which of the following Granite configuration steps
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that they implemented would cause the problem? (Assume the basic networking is correct)

Step A. Granite Edge is configured to add the Granite Core. Step B. Granite Core discovers Granite Edge and ISCSI
SAN. Step C. ISCSI San Administrator maps LUN to Granite Core. Step D. Granite Core discovers LUN and projects it
to Granite Edge. Step E. Granite Edge maps LUN to ign.199801.com.vmware:Windows_Server. Step F. Windows
Server connects to 172.1.1.1 via ISCSI client.

A. Step A

B. Step B

C.Step C

D. Step D

E. Step E

F. Step F

Correct Answer: E

QUESTION 3

Which operating system below supports Riverbed Turbo Boot?
A. Windows XP.

B. Windows 2003.

C. Windows Server 2003.

D. Windows Server 2008 r2.

E. Windows Server 2003 r2.

Correct Answer: D

QUESTION 4

Which three cloud providers are currently supported with Whitewater appliances? (Select 3)
A. IBM SmartCloud.

B. Microsoft Windows Azure.

C. Amazon Glacier.

D. Cloudian.

E. Rackspace.

Correct Answer: BCE
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QUESTION 5

If a user is considering having backup data sent to Amazon Glacier, select which recommendations should be reviewed
to ensure Whitewater appliance is appropriately designed for the environment? (Select 2)

A. Whitewater appliances should be sized larger to reduce the amount of potential access activity from Amazon
Glacier.

B. Whitewater appliances should only deduplicate against local cache storage and not against local and Amazon
Glacier storage.

C. Whitewater appliances should only accept archive data if using Amazon Glacier storage.

Correct Answer: AB
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